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I deio ((sa905) (omalbil 3L
§5- My son does not wear these clothes. He says they are not —-— these days.
1) forbidden 2) emotional 3) fashionable 4) superior
86~ There is too little about the present state of the German economy,
1) certainty 2) attention 3) emergency 4) presentation
87- Were you to move away from home by your parents?
1) located 2) predicted 3) transferred 4) encouraged
88- I'm afraid there is no mechanism for dealing with your complaint.
“Mechapism™ means:
1) purpose 2) method 3) function 4) occasion

89 Iwas sick and had to stay home for two weeks, Now I think it is hard to ———
up with the class.

1) give | 2) keep 3) pass 4) take
90- From his expression I realized he was sad but not happy.
1) reasonable 2) natural 3) facial 4) private

‘ Part C: Cloze Test |

Directions: Questions 91-95 are related to the following passage.

Read the passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark your answer sheet.

Language may have started in one place and spread from that place, Or it
may, 91) y have started in several places. In any event, if the people of
the world kad been 92) in touch with one another all through their
history, we might now have had only one language. 93) mountains and
seas have 94) peoples apart. Today there are more than 1,000

languages, Some 95) —— by many millions of people, others by only a few
thousand,

91- 1)so far 2) instead 3) thus 4) besides
52- 1) closely 2) briefly 3) silently 4) softly
93- 1) But 2) Therefore 3) Though 4) While
94- 1) removed 2) made 3) kept 4) looked
95- 1) spoken 2) be spoken 3)werespoken  4) are spoken

‘ Part D: Reading Comprehension |

Directions: In this part of the test, you will read a passage, The |
passage is followed by five questions. Answer the questions by

thoosing the best choice (1), (2), (3), or (4). Then mark your answer |
sheet,

As recently as 50 years ago all the members of a family would run to the
wml_iuf to watch an automobile pass. They watched the “horseless carriage” to
see If it could climb the next hill. They wondered what would happen to the

passengers in a rain storm. People joked about the early cars, but almost
everybody wanted to own one.

iY axmio ol les Saa
hua gt )5l cy 10 7 3 b lis g olpplyr g B> s g byl Sl BT &yl n V¥
e [ TE S T — PE— P R e TL )

Caesb o el Y agd ad ()
YIS opul i - Lozl gty gl (¥

Cangale 3yt = S catlye f 5t gdisn g (T
Cors catlye i et gian - o gy (F

(goae) gnadSil 1l

Part A: Grammar
Directions: Questions 76-80 are incomplete sentences. Beneath each |

sentence you will see four words or phrases, marked (1), (2), (3), and |
(4). Choose the one word or phrase that best completes the sentence. |

Then mark your answer sheet.

76- T turned off the TV because I didn’t find the film ———.

1) amusingly 2) amusing 3) amused 4) amuses
77- Mary is taking driving lessons ~---——— she can easily pass the test.
1) when 2) whether 3) because 4) 50 that
78- It is ——— late for us to go to the movies tonight.
: 1) very 2) 50 as 3) 100 4) enough

| 79. Al the food ——— before we got to the pienic.

1) has eaten 2) had eaten 3)had beeneaten  4) has been eaten
80- Ann’s birthday was on the 5™ and today is the 8 Her hirthday card a

week ago.

1) should be sent 2) should have sent

3) should be sending 4) should have been sent

| PartB: Vocabulary
Directions: Questions 81-90 are incomplete sentences. Beneath each |

sentence you will see four words or phrases, marked (1), (2) (3), and
(4). Choose the one word or phrase that best completes the sentence.

Then mark your answer sheet.

§1- A thin flat piece of paper, metal, plastic, glass, etc. is called —~——.

1) sheet 2) core 3) layer 4) crust
§2- The examination is going to be -——at 1030, Try not to come late.

1) made 2) held 3) performed 4) occurred
§3- Jane can get the job done. I have full in her abilities. y

1) confidence 2) exploration 3) endeavor 4) training
84- Could you stop talking please? You are me from my wnr!i. |

1) recalling 2) influencing 3) denying 4) distracting
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The automobiles of 50 years ago did not look much like the cars of today.
They looked more like the horse-drawn carriages people were used to riding in.
Some of the early cars even had electrical connections.

The idea of using an engine of some kind te turn the wheels of a carriage is
really quite old. The first automobile accident happened in 1769, nearly 200
years ago. A steam carriage built by the Frenchman Nicolas Cugnot (Kune YO)
overturned on a curve. It was traveling less than three miles an hour!

In 1831 steam carriages carrying 18 passengers were making regular trips
between cities in England. They averaged about five miles an hour. But toll road
keepers began raising their rates on steam carriages. People sometimes threw
stones at the carriages. The government also began passing laws against them.
One of these laws, called the Red Flag Law, said that a man had to walk in front

of any steam carriage and carry a red flag during the day or a red lantern at
night.

What does the passage mainly discuss?
1) Early automobiles

. 2) People’s feelings about automobiles

3) First car accidents and laws

4) Difference between horse-drawn carriages and automobiles
Which of the following is TRUE about early automobiles?
1) They looked like horse-driven carriages.

2) They traveled over long distances very fast.

3) People were convinced they were very efficient.

4) People were not interested in having one of them.

This passage was probably written :
1) 50 years ago 2) 200 years ago

3) before 1769 4) in the second half of the 20 century
The word “they” in paragraph 4 refers to :
1) cities 2) trips 3) carriages 4) passengers




